HAR AL
FE 4 | T2 = P
R= <R
1 NG / ARCLEIREY b 89 50 50
2 ARG EARCE SN X2 81 50 50
3 AR AREE NS H %5 82 50 50
4 ARG EARCE SN FFI 83 50 50
5 AR AREE NS JLH = 81 50 50
6 ARG EARCE SN HiEF 86 50 50
7 ARCES LI ARG (| STTES 82 50 50
8 ARG EARCE SN X AR 86 50 50
9 ARESET AREE NS piisaa 84 50 50
10 ARG EARCE SN Tz 85 50 50




11 ARG ARCE IS ESEE) 83 50 50
12 ARG ZLEHEIX Wrke 86 50 50
13 ARG ARCE IS 4= R L 83 50 50
14 ARG ! ZLEHEIX X 2% 81 50 50
15 ARG ARCE IS AW 83 50 50
16 ARG ZLEHEIX ZH>= 83 50 50
17 ARE AL ARCEINES PN 85 50 50
18 ARG ZLEHEIX 2R 83 50 50
19 ARG ARCE IS 5 R % 82 50 50
20 ARG ZLEHEIX AR T5 81 50 50
21 ARG ARCE IS G SERNe 85 50 50
22 ARG ZLEHEIX FRSC ) 84 50 50




23 ARG ARCE IS KA 82 50 50
24 ARG ZLEHEIX Mg =238 84 50 50
25 ARG ARCE IS X E 5t 90 100 100
26 ARG ! ZLEHEIX e 86 50 50
27 ARG ARCE IS B&X 81 50 50
28 ARG ZLEHEIX A 83 50 50
29 ARE AL ARCEINES RI5T 82 50 50
30 ARG ZLEHEIX FHRA 81 50 50
31 EARCESS ARCLEIRRY Mot 82 50 50
32 ARG ZLEHEIX PN 81 50 50
33 AREEC S ARCEINPS Ja 7 89 50 50
34 ARG ZLEHEIX 1758 84 50 50




35 ARG ARCE IS X 84 50 50
36 AREES ZLEHEIX HHE 86 50 50
37 ARG ARCE IS R AR 81 50 50
38 AREES ZLEHEIX B2 81 50 50
39 ARE AL ARCEINPS XA 4 88 50 50
40 ARG ARLE P B E 86 50 50
41 ARG ARCE IS JiE K6 86 50 50
42 AREES ZLEHEIX B £ 2 83 50 50
43 ARG ARCE IS Qe 81 50 50
44 AREES ZLEHEIX K7tV N 81 50 50
45 EARESES AR INPS B 82 50 50
46 AREES ZLEHEIX W2 85 50 50




47 EAREE S ARCE IS P S 81 50 50
48 ARG ZLEHEIX 5 86 50 50
49 ARG ARCE IS R SC 85 50 50
50 ARG ! ZLEHEIX ST 89 50 50
51 ARG ARCE IS 2R 87 50 50
52 ARG ZLEHEIX SREL 89 50 50
53 EAREES ARCE IS [/lae S 81 50 50
54 ARG ZLEHEIX e 81 50 50
55 ARG ARCE IS Wt 81 50 50
56 ARG ZLEHEIX LA 80 50 50
57 ARG ARCE IS T 81 50 50
58 ARG ZLEHEIX MK 81 50 50




59 ARG ARCE IS Bi] A 81 50 50
60 ARG ZLEHEIX KE 80 50 50
61 ARG ARCE IS FAH 81 50 50
62 ARG ! ZLEHEIX F&R 80 50 50
63 ARG ARCE IS BEEAE 81 50 50
64 ARG ZLEHEIX ;W= 80 50 50
65 ARG ARCE IS [ 5 S 80 50 50
66 ARG ZLEHEIX 2 [a) 2 80 50 50
67 ARG ARCE IS FEF & 80 50 50
68 ARG ZLEHEIX Je R 80 50 50
69 ARG ARCE IS X2 A7 80 50 50
70 ARG ZLEHEIX Bk SR 22 90 100 100




71 ARG ARCE IS MR 90 100 100
72 ARG ZLEHEIX T E 90 100 100
73 AREEC S ARCEINPS Ik 92 100 100
74 ARG ! ZLEHEIX PR 91 100 100
75 ARG ARCE IS Fhk 5t 90 100 100
76 ARG ZLEHEIX IREV 96 100 100
77 ARE AL ARCEINES AT 80 50 50
78 ARG ZLEHEIX AT 80 50 50
79 ARG ARCE IS CIEER 80 50 50
80 ARG ZLEHEIX A 80 50 50
81 ARG ARCE IS e 90 100 300
82 ARG B A [X THE= 82 50 50




83 AREEC S P4 IX 81 50 50
84 ARG BEA AL X 81 50 50
85 AREEC S A X 84 50 50
86 ARG ! BEA AL X 82 50 50
87 ARE AL P4 IX 81 50 50
88 ARG BEA AL X 87 50 50
89 ARE AL P4 IX 85 50 50
90 ARG BEA AL X 88 50 50
91 ARE AL A X 81 50 50
92 ARG BEA AL X 81 50 50
93 AREEC S A IX 83 50 50
94 ARG BEA AL X 80 50 50




95 ARG W A X FH= 80 50 50
96 AREES B A [X B 80 50 50
97 ARG A X AF54 81 50 50
98 ARG ! B £ [X ESEEN 80 50 50
99 ARE AL i+ X FrHETT 80 50 50
100 ARG B £ [X FIKA 80 50 50
101 EAREES W A X FEE 80 50 50
102 ARG B A [X kT 80 50 50
103 EAREES A X KAFE 80 50 50
104 ARG B A [X T 80 50 50
105 ARG R A X A 80 50 50
106 ARCEC | BEA AL X BT 80 50 50




107 EAREE S W A X Fri Az 83 50 50
108 ARG B A [X Z&At 80 50 50
109 EAREE S A X KB il 87 50 50
110 ARG ! B £ [X EJUSS 83 50 50
111 ARG W A X R T 81 50 50
112 ARG B £ [X TR 81 50 50
113 EAREES W A X Joit [ 2 85 50 50
114 ARG B A [X KAt 87 50 50
115 EAREES A X Fet 86 50 50
116 ARG B A [X LA 86 50 50
117 ARG R A X X3 K 83 50 50
118 ARG B A [X [ 84 50 50




119 EAREE S W A X +H % 88 50 50
120 ARG B A [X B2F 84 50 50
121 EAREE S A X LT 82 50 50
122 ARG ! B £ [X A 81 50 50
123 EAREES W A X FER 82 50 50
124 ARG B £ [X FEE 87 50 50
125 EAREES W A X 0352 88 50 50
126 ARG B A [X BH2 81 50 50
127 EAREES A X W 84 50 50
128 ARG B A [X MRF5 > 83 50 50
129 ARG R A X W75 5& 86 50 50
130 ARG B A [X DI 85 50 50




131 ARG W A X FAEEH 81 50 50
132 ARG B A [X IR 81 50 50
133 EAREE S A X Tk S 82 50 50
134 ARG ! B £ [X e 84 50 50
135 EAREES W A X TR 83 50 50
136 ARG B £ [X EES= 89 50 50
137 ARE AL i+ X 3 3% 90 100 100
138 ARG B A [X TR EE 88 50 50
139 EAREES A X BeE M 87 50 50
140 ARCEC | BEA AL X AHE 87 50 50
141 EARESES R A X 2RI 86 50 50
142 ARG B A [X FAat 87 50 50




143 EAREE S W A X AR 2 86 50 50
144 ARG B A [X FRi% 84 50 50
145 ARG A X LYEF 84 50 50
146 ARG ! B £ [X TH® 84 50 50
147 EAREES W A X XA~ 83 50 50
148 ARG B £ [X X2 83 50 50
149 EAREES W A X [ PN 81 50 50
150 ARG B A [X EES 83 50 50
151 EAREES A X 271 82 50 50
152 ARG B A [X BoRE 82 50 50
153 EARESES R A X AR R 82 50 50
154 ARG B A [X RICHE 82 50 50




155 EAREE S W A X % 81 50 50
156 AREES B A [X = 81 50 50
157 EAREE S A X el 81 50 50
158 ARG ! B £ [X ] 83 50 50
159 ARE AL i+ X S 90 100 100
160 AREES B £ [X A 91 100 100
161 EAREES W A X K E 5t 84 50 50
162 ARG B A [X TR 80 50 50
163 ARG A X LR 80 50 50
164 ARG B A [X ZRE 80 50 50
165 EARESES R A X Al 86 50 150
166 ARCE | B 1L X TR 80 50 50




167 EAREE S AL IX GO 80 50 50
168 ARG Pt AR 40 89 50 50
169 EAREE S FPALIX TR 87 50 50
170 ARG ! Pt B H % 88 50 50
171 EAREES FPALIX L = 87 50 50
172 ARG Pt YRR 88 50 50
173 EAREES FPALIX Wk [ 87 50 50
174 ARG Pt FE 5% 86 50 50
175 EAREES AL T 87 50 50
176 ARG Pt JE R 87 50 50
177 ARG AL X 86 50 50
178 ARG Pt AR 2% 85 50 50




179 ARGESS < MPeAEX THEDE 86 50 50
180 AR E | M MeAEIX = 86 50 50
181 ARGES S < MLt IX IR 86 50 50
182 AR M PeAE X 1y S 85 50 50
183 ARCES S < MPeAEX WL 86 50 50
184 AR k| M MeAEIX F % 85 50 50
185 ARCES S < MPeAEX I 86 50 50
186 AR MPeAEX B R 3 85 50 50
187 ARCES ¢ M MeAEIX JRER 4k 84 50 50
188 ARCES | M MeAEIX etk 85 50 50
189 FAREES S < MPeAEX et 82 50 50
190 AR MReAEX et 85 50 50
191 ARCE | M MeAEIX B 84 50 50
192 FARGES S < MPeAEX L 84 50 50




193 ARG M PeAEIX HH 3 84 50 50
194 EARECE ] AL Ve 22 K 84 50 50
195 ARCES i A X JeiE 5 84 50 50
196 EARGETE ! AL 7K 3 84 50 50
197 ARG AL IX TIEM 84 50 50
198 ARCET | PALIX 4% 84 50 50
199 EARGETE AL Joji == 5 84 50 50
200 ARG HPeAEX L 84 50 50
201 EARECE ] PALIX TKEAL 84 50 50
202 AR PALIX XI| 24 B 81 50 50
203 ARG AL X o 84 50 50
204 EARECE ] FPALIX JA %58 84 50 50
205 AR | PALIX HIOKR 84 50 50
206 AR Pt F e 84 50 50
207 EARECE ] A X 23 83 50 50
208 AR | PALIX RAEE 84 50 50




209 ARG HPeAEX XL 83 50 50
210 EARECE ] AL Fh4e g 83 50 50
211 AR | PALIX Tr 3% 84 50 50
212 EARGETE ! AL TR 82 50 50
213 ARG PALEIX FE75 5% 83 50 50
214 ARCET | PALIX Tk 83 50 50
215 EARGETE AL FREAL 83 50 50
216 ARG HPeAEX e T 84 50 50
217 EARECE ] PALIX ZEK2 84 50 50
218 ARCES LI A X EE B 84 50 50
219 ARG HPAEX AT 82 50 50
220 EARECE ] A X THT 82 50 50
221 AR | PALIX RHEY 82 50 50
222 EARGETE ! AL Jai 75 2% 83 50 50
223 ARG PALEIX Kz 83 50 50
224 AR | PALIX J & AE 83 50 50




225 ARG HPeAEX R Y 82 50 50
226 EARECE ] AL XI5 82 50 50
227 AR | PALIX ok ICAE 82 50 50
228 EARGETE ! AL S 82 50 50
229 ARG AL IX &FHE 82 50 50
230 ARCET | PALIX B2 81 50 50
231 EARGETE AL U 81 50 50
232 ARG HPeAEX HE A 81 50 50
233 EARECE ] PALIX P 82 50 50
234 EAREES AL WRAEAS 82 50 50
235 ARG AL ik Hll 81 50 50
236 ARG PAEX T 82 50 50
237 EARECE ] FPALIX BN 81 50 50
238 AR PALIX BEE 82 50 50
239 ARG AL L 82 50 50
240 EARESE AL MiE 5t 80 50 50




241 ARG AL IX PR 80 50 50
242 EARECE ] A X =TT 81 50 50
243 AREET i PALIX HeEs 81 50 50
244 EARGETE ! AL 25 IE 1 80 50 50
245 ARG At IX 2 EAE 81 50 50
246 ARCET | PALIX TrYER 81 50 50
247 EARGETE AL TR 80 50 50
248 ARG AL IX LT 80 50 50
249 EARECE ] PALIX g 80 50 50
250 AR PALIX X 80 50 50
251 ARG AL X FHE 80 50 50
252 EARECE ] FPALIX ik—% 80 50 50
253 AREECE FEPeAEIX TR 93 100 100
254 EARGETE ! AL AL 93 100 100
255 ARG PALEIX ¥ 73 9] 93 100 100
256 AREEE DAL IX palascs 91 100 100




257 ARG AL IX PR 90 100 100
258 EARECE ] AL MiEZF 87 50 50
259 AR | PALIX L 80 50 50
260 EARGETE ! AL i 80 50 50
261 ARG At IX VFE IE 80 50 50
262 ARCET | PALIX RS 80 50 50
263 EARECE ] AL T2 80 50 50
264 AR PALIX E9)8'E 80 50 50
265 ARG AL A 80 50 50
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